

For the method: Decompose $F(x) = \frac{1+x}{1-x-x^{\perp}}$ using partial fractions. Note: The factors Lax, I-px reveal the reciprocal roofs a, B. (The roots Factor the denominator $1-x-x^2=(1-\alpha x)(1-\beta x)$ The roots are the same as the roots of x^2+x-1 i.e. $-1 \pm \sqrt{1+4} = -1 \pm \sqrt{5}$ 2 (-1 75) The reciprocal roots are = 2 -175 -175 a = 1+15 ~ 1.618 (the golden ratio) eciprocal posts a+ B = 1 a- B = 5 $\beta = \frac{1-\sqrt{5}}{2} \approx -0.618$ 1+ 1-1=0 xx = 1-1 Always use a, & in the algebraic simplification 1+a-4=0 β2 = β+1 $A \sum_{n=0}^{\infty} (\alpha x)^n + B \sum_{n=0}^{\infty} (\beta x)^n$ $f(x) = \frac{1+x}{1-x-x^2} = \frac{1+x}{(1-\alpha x)(1-\beta x)}$ $\frac{A}{1-\alpha x} + \frac{B}{1-\beta x}$ $\sum_{n=0}^{\infty} \left(A_{\alpha}^{n} + B_{\beta}^{n} \right) \chi^{n}$ an ~ Aa" (exponential growth rate)

$$1+x = A(1-\beta x) + B(3-\alpha x)$$

$$1+\frac{1}{\alpha} = A(1-\frac{\beta}{R}) + B(1-\frac{\alpha}{R})$$

$$1+\frac{1}{\beta} = B(1-\frac{\alpha}{\beta})$$

$$1+\frac$$

β= β+1

Use partial fractions to find A,B such that

 $\frac{1+x}{1-x-x^2} = \frac{1+x}{(1-\alpha x)(1-\beta x)} = \frac{A}{1-\alpha x} + \frac{B}{1-\beta x}$

yet
$$(n^2+7a^2)-n^3=7n^2 \rightarrow \infty$$
 as $n\rightarrow\infty$

In our case the convergence is stronger: not only is $a_n \rightarrow Ax^n$ but moreover $a_n - Ax^n \rightarrow \infty$. We can actually evaluate a_n by taking the closest integer to Ax^n .

Another example of partial fraction decomposition:

$$\frac{(+2x-3x^2)}{(+x+4x^2+4x^2)} = \frac{(+2x-3x^2)}{(+x)} = \frac{(+2x-3x^2)}{(+x)} = \frac{A}{(+x)} + \frac{B}{(+2ix)} + \frac{C}{(+2ix)}$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} \left(A(i)^n + B(2i)^n + C(2i)^n \right)^n$$

$$= A \sum_{n=0}^{\infty} (-1)^n x^n + B \sum_{n=0}^{\infty} (2i)^n x^n + C \sum_{n=0}^{\infty} (2i)^n x^n = \sum_{n=0}^{\infty} (A(i)^n + A(i)^n + C \sum_{n=0}^{\infty} (A(i)^n + A(i)^n + A(i)^n + C \sum_{n=0}^{\infty} (A(i)^n + A(i)^n + A(i)^n$$

 $N^3 + 7N^2 \sim N^3$ as $N \rightarrow \infty$ Since $\frac{N^3 + 7N^2}{N^3} = 1 + \frac{7}{N} \rightarrow 1$ as $N \rightarrow \infty$

Solve for A,B,C

$$\frac{1}{1-\mu} = 1+\mu+\alpha^{2}+\alpha^{3}+\alpha^{4}+\dots + \frac{1}{4}+\dots + \frac{1}{4}+$$

1+x + 5x + 3 1+4x2

 $= -\frac{4}{5}(1-x+x^2-x^3+x^4-x^5+--)$

 $F(x) = \frac{1 + 2x - 3x^2}{(1 + x)(1 + 4x^2)} = \frac{A}{1 + x} + \frac{Bx + C}{1 + 4x^2} =$

[ab] = ad-bc[-ca]

 $W(x) = W_{11}(x) = \frac{1}{1-4x^2} = 1+4x^2 + 16x^4 + 64x^6 + 256x^8 + \cdots$ $W_n = W_n(r, r) = \begin{cases} 0 & \text{if } n \text{ is even} \end{cases}$ has two (roots ±2 having the same absolute value? Denominator 1-4x2 = (1+2x)(1-2x) since we want to use the geometric Romarks: 1-4x2 is preferred over Series 1-4 = 1+4+4+43+... (c,a,k constants) Exponential growth f(n) ~ can Polynomial growth f(n) ~ can Other counting problems leading to a sequence where generating functions are used to express the solution: Let a be the number of permitations of [n] = {1,2,...,n} (i.e. the number of ways I can list in stadiuty in order). Then an = n! Its generating function is $F(n) = \sum_{n=0}^{\infty} n! x^n = 1 + x + 2x^2 + 6x^3 + 24x^4 + 120x^5 + 720x^6 + 5040x^7 + ...$ $G(x) = \sum_{n=0}^{\infty} (n!)^2 x^n = 1 + x + 4x^2 + 36x^3 + 576x^4 + \cdots$

(k) is the number of k-subsets of an u-set i.e. the unker of bitstrings of length a having k 1's (and note zeroes). If $a_k = \binom{n}{k}$ where a is fixed then the generaling function for the $A(x) = \sum_{k=0}^{\infty} q_k x^k = \sum_{k=0}^{\infty} {n \choose k} x^k = (1+x)^n$ eg. $A_{q}(x) = {\binom{q}{0}} + {\binom{q}{1}}x + {\binom{q}{2}}x^{2} + \dots = 1 + 4x + 6x^{2} + 4x^{3} + x^{4} = (1+x)^{7}$ Binomial Theorem The Binomial Theorem $(1+\chi)^m = \sum_{n=1}^{\infty} {m \choose n} \chi^n$ holds for all real values of m. If m is a non-negative integer then $\binom{m}{n} = \frac{m!}{n! \binom{m}{n}}$ is a non-negative integer (positive for n = 0,1,2,...,m; zero for n > m) in which case $(1+\chi)^m$ is a polymonial in χ of degree m. This is a special case of the Binomial Series. The Binomial coefficients are found by hand from Pascal's Triangle (m) = entry n in row m of Pascal's Triangle eg. (1) = entry 2 in now 4 I start counting at 0,1,2,...)

The recursive formule for generating Passal's Triangle is (") = ("") + ("") Three proofs of Pascal's formula $\binom{n}{k} = \binom{n-1}{k-r} + \binom{n-1}{k}$:

Combinatorial Proof (counting proof): (one iden the n-set $\lfloor n \rfloor = \lceil 1, 2, \dots, n \rceil$.

Any k-subset $B \subseteq \lfloor n \rfloor$ is of one of the following two types: (i) $n \in B$ In this case $B = \{n\} \cup B'$ where $B' \subseteq \{n-i\}$, |B'| = k-i. There are (k-1) ways to choose B' in this case. (ii) n & B. In this case B [[n-1]. There are (n) choices for B.
The sum in cases (i) and (ii) must give (n). Generating Function Proof: Compare coefficients of the on both sides of

(i)
$$n \in B$$
. In this case $B = \{n\} \cup B'$ where $B' \subseteq \{n-1\}$, $\{B'\} = k-1$.

There are $\binom{n-1}{k-1}$ ways to choose B' in this case.

(ii) $n \notin B$. In this case $B \subseteq [n-1]$. There are $\binom{n-1}{k}$ choices for B in this case.

The sum in cases (i) and (ii) must give $\binom{n}{k}$. \square

Generating Function Proof: Compare coefficients of γ^k on both sides of $\binom{n+1}{k} = \binom{n+1}{k} + \binom{n+1}$

thus #2 # similar to the example on the handout on Fibonnectic numbers

print's'

A= [0] Kinite automator with two states (), (2). How many walks are there starting at vertex 1? $W_n = W_n(1,1) + W_n(1,2)$ Printent 0101000 represents the walk (1,2,1,2,1,1,1,1) of length 7. The walks of length n starting at vertex 1 are in one-to-one correspondence with 11-free bitstringes of length n. More generally, many counting problems (where recursion plays a role) are equivalent to counting walks in graphs. Recall: Binomial Theorem $(x+y)^n = \sum_{k=0}^n {n \choose k} x^{n-k} y^k$ where ${n \choose k}$ (binomial oselficient "n choose k") equals the number of k-subsets of an n-set. ${n \choose k} = \begin{cases} \frac{n!}{k!(n-k)!} & \text{if } k \in \{0,1/2,...,n\} \end{cases}$ (n>0 integer) o otherwise Multinomial Theorem (x, + x2 + ... + xr) = \(\int_{i_1, i_2, ..., i_r} \) \(x_i^i \) \(

eg. $(x+y+z)^3 = \sum_{\substack{i+j+k=3\\ij+k>0}} (i,j,k) x^i y^j z^k = x^3 + y^3 + z^3 + 3x^2y + 3xy^2 + 3xz^2 + 3xz^2 + 3yz^2 + 3yz^2 + 6xyz$ (Trinomial expansion) $(3,0,0) = \frac{3!}{3!0!0!} = \frac{6}{6\cdot 1\cdot 1} = (0,3,0) = (0,0,3)$ Clack: 33 = 1+1+1 + 3+--13+6 = 27 $(2,1,0) = \frac{6}{2\cdot(\cdot)} = 3 = (0,2,0) = \cdots$ (evaluating at (1,1,1)). $\binom{3}{1}$ = $\frac{3!}{1! \cdot 1!}$ = $\frac{6}{1 \cdot 1 \cdot 1}$ = 6 How many words can be formed by permiting the letters of MISSISSIPPI? (Words are stringe of letters where the order is important.) 1:4:4:2! = (1,4,4,2) = 34,650. How many words can be formed by personnting the bits in 01/10010010? $\binom{11}{5}$ = $\frac{11!}{5!}$ = $\binom{11}{5}$ = $\binom{11}{6}$ = 462Say M&M's are made in 6 different colors. How many different ways can we have a handful of 10 M&Ms? or n M&M's?

a. = mumber of ways to have a handful of n M&Ms?

and 1 6 21 ...

If MRM's come in the colors red, blue, green, orange, yellow, brown, then there are (15) ways to draw a handful of ten MRM's e.g. X is a divider R R XX & XOOOOX YX Br Br * * XX * X * * * X * X * X * X * * represents the color distribution red blue green orange yellow brown 2 red 1 green 4 orange 2 gellow 10 N& N'S The possible color distributions for a handful
of 10 M&M's are in one-to-one correspondence with the number of words
of length 15 over a binary alphabet '*, 'X'. So the number of handfuls
of 10 M&M's which come in 6 colors is (15).

If M&M's come in k colors and we select n M&M's from this batch, the number of possible color distributions is $\binom{n+k-1}{k-1} = \binom{n+k-1}{n}$.

O Suppose I want to hand out n books (all different) to k students. How many ways can I do this?

k x k x \cdots \times k = k choices. n times Ethow many ways can I hand out n identical silver dollars to k students? Eg. I hand out 10 identical silver dollars to 6 students. 7 7 0000 000 C3 00 0 0000 0 00 Auswer: $\binom{15}{5} = \binom{15}{10}$ Note: Problem () is counting functions [n] -> [k] In Problem (2) what if we require each student to get at least one of the silver dollars? Instead of (10+6-1), the answer is (4+6-1)=(9). Suppose I want to hand out k different books to n students, in such a way that each student gets at most one book. How many ways can we distribute the books? This equals zero if k>n $P(n,k) = n(n-1)(n-2)\cdots(n-k+1)$ no. of dioices and 3rd kth book of student to book give book 1 to P(a,k) = 0 if k < nP(n,k) = a! if k=nP(n, k) is also denoted n or various other notations ("descending factorial or falling faction") P(a,k) is the number of one-to-one maps [k] -> [n] (injections) Question: How many surjections [le] -> [n]? (functions that are onto, i.e. how many ways can we hand out k different books to n students if we want every stadent to get at least one book)?

what if m is not an integer?
$$k=0$$
 $(M) = \frac{m!}{k! (m-k)!} = \frac{m.(m-1)(m-2)\cdots(m-k+1)(m-k)(m-k-1)}{k! (m-k)!} = \frac{P(m,k)}{k!}$
 $P(m,k) = m(m-1)(m-2)\cdots(m-k+1)$ is defined for all $k \in \{0,1,2,3,4,\cdots\}$

and m any real number.

 $P(m,0) = 1$
 $P(m,1) = m$
 $P(m,2) = m(m-1)$
 $P(E,3)$
 $P(E,3)$
 $P(E,3)$

Binomial Theorem (1+x) = Z(M) xk

eg.
$$\sqrt{1+x} = (1+x)^{\frac{1}{2}} = \sum_{k=0}^{\infty} {\binom{\frac{1}{2}}{k}} x^{k} = 1 + \frac{1}{2!} x + \frac{1}{2!} x^{2} + \frac{1}{2!} (\frac{1}{2}-1)(\frac{1}{2}-2)}{3!} x^{2} + \frac{1}{2!} (\frac{1}{2}-1)(\frac{1}{2}-2)}{4!} x^{2} + \frac{1}{2!} x^{2} + \frac{1}{16} x^{3} + \cdots$$

Suppose I want to give out in silverdollars to 3 students x, y, z. How many wants can I do this? This is the same as counting bitstrings of length n+2 having 2 ones and n zeroes e.g.

2 7 00 10 100000 represents one way to distribute 7 silverdollars to x, y, 2 (9) = 9.8 - P(9,2) = 36 ways to distribute 7 identical silver dollars to 3 studits The term x'y'z' of degree i+j+k represents how we can give i coins to x, j coing to y, k coins to z. The number of ways to distribute n coins to 3 students is the number of terms of degree n in our expansion. To isolate terms of degree n in the expansion, do the following: replace x, y, z by tx, ty, tz.

The coefficient of this series gives all the ways to distribute a coins to three students x, y, z. The number of ways to distribute a coins to gradents, replace x, y, z by 1.

for this we can use the Binomial Theorem. How many ways can we distribute on identical silver dollars to k students? Call the students X1, X2, ..., Xk. k $\frac{1-x_1}{1-x_1} = \frac{(1-x_1)(1-x_2)\cdots(1-x_k)}{(1-x_1)(1-x_2)\cdots(1-x_k)} = \frac{1}{1-x_1}((1+x_1^2+x_1^2+x_2^3+\cdots)) = \frac{1}{1-x_1^2} =$ In order to collect terms of each degree a>0, replace x,..., x, by tx,..., tx Now replace π_1, \dots, π_k by 1. If $\frac{1}{1-t} = \frac{1}{(1+t)^k} = \frac{1}{2}$ C number of monomials xi " xk of degree intigt tip = n number of solutions of 11+13+ ++ 12 = n (in, ..., ik 20) = unular of ways to give

$$\frac{1}{(1-t)^{k}} = \frac{(1-t)^{-k}}{t} = \frac{2}{2} \frac{(-k)(-k-1)(-k-2)\cdots(-k-r+1)}{r!} \frac{(-1)^{n}t^{n}}{r!}$$

$$= \frac{2}{(1+(t))^{n}} \frac{(-k)(k+2)\cdots(k+r-1)}{r!} \frac{(-1)^{n}t^{n}}{r!} = \frac{2}{(n+k-1)^{n}} \frac{(-1)^{n}t^$$